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)6.  (A) He looks like his father.

(B) He looked at me like that way.
(C) He was looking for his car key, but he didn’t find it.

(A) The cow is the heaviest animal on the farm.
(B) David is the heaviest person in my family.
(C) There are many cute animals on the farm.
(A) This machine is very useful.

(B) The pink one on the left is mine.

(C) The red one. It can send e-mails and play music.
(A) Thank you and have a nice day.

(B) I’d like to take a look at these cameras.

(C) Yes, I’m fine.

(A) I think it’s free.

(B) Thank you. | bought it last week.

(C) Hurry up. Let’s go inside.
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)11 (A) He is busy working and doesn’t have much time to
exercise.
(B) He exercises only once a week.
(C) He has snacks every meal.
)12, (A) The tallest building in the world.
(B) How to take a trip to Dubai.
(C) Taipei 101 is the tallest building in the world.
)13, (A) It’s summer now.
(B) In Kaohsiung, people usually wear heavy coats.
(C) The weather is getting hotter these years.
)14. (A) The woman did very well on every exam.
(B) The woman didn’t do well on the Chinese exam.
(C) The woman got 100 on the math exam.
)15.  (A) Jason does.
(B) Jack does.
(C) John does.
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( )16 A: does the water taste like?
B: It like juice. (U3)
(A) How; tastes  (B) What; tastes
(C) What; look (D) Where; smell
() 17.The pink dresses are _____than the white
(A) much better; ones  (B) very better; ones (U1)
(C) more better; one (D) so better; one
() 18. Mary got three birthday gifts: a small and two
big . (U1)
(A) it; it (B) one; ones (C) one; one (D) ones; it
( )19.A:lsTom boy in his class?
B: Yes. He is also than the thinnest girl in his class.
(A) thinner; thinner (B) the thinnest; thinner
(C) thinner; the thinnest (D) thinnest; thinnest (U1,U2)
() 20. I need to spend time and eggs on Easter.
(A) boil; hide (B) to boil; hide (U3)
(C) boiling; to hide (D) boiling; hiding
() 21. A: What are you doing? (U3)
B: I’'m your album(fH5#).
Youreally  your dad.
(A) looking like; look  (B) look at; looking like
(C) look like; look at (D) looking at; look like
() 22. My sister likes to paint pictures __ beautiful
(A) in; colors (B) at ; brushes (U3)
(C) with ; colors (D) on; drawing
( )23.____ animals, elephants are the biggest in this zoo.
(A) All the (B) Of allthe (C) Ofall (D) All (U2)
() 24.Nina’s math grades are of all. (U2)
(A) the worse (B) the bad
(C) the worst (D) bad
( )25 A wouldyou  to pay? B:In cash.
(A) How; want (B) Where ; like (U1)
(C) What; want (D) How; like
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() 26. A: Who found Easter eggs in your class?
B:John . Hedidn’t find any. (U2)
(A) less; does (B) the most ; did
(C) the least ; did (D) little ; does
Uncle Ben is a businessman, and he is also a farmer.
Five years ago, he (27) a farm and began_(28) fruit.
On the farm, he has many kinds of fruit like strawberries,
tomatoes, and grapes. His fruit is_(29) in the town.
Some people _(30) a lot of time driving there, and just
want to eat his fruit. Especiallygssist), his tomatoes are the
sweetest of all. They’re even sweeter than peaches. _(31)
Althoughgg## Uncle Ben spends much time on the
traffic from his home to his working place every day, he
never feels tired. _(32)
) 27. (A) buy (B) bought (C)will buy (D) buys
) 28. (A) to grow (B) grew (C) grows (D) grow
) 29. (A) the best (B) good (C) very best (D) better
) 30. (A) take  (B) cost (C) pay (D) spend
) 31. (A) He doesn’t have green fingers.
(B) He’s good at growing fruit.
(C) He likes to buy fruit.
(D) He’s a great businessman.
() 32.(A) Money is everything.
(B) He is unhappy on the farm.
(C) It’s his dream life.
(D) Working in the city is the best.
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Today, we can see many people using their cellphones all
the time, but using cellphones too often may hurt their bones.
In a study, the researcher found out if people bow their head for
a long time looking at their cellphone, they may grow a bone
bump on the back of their head right above their neck.
Usually, the bone bump will happen around age 60.

However, in the study, bone bump is the most common at
the age from 18 to 29. The bump may start in the bone at a
young age because of using too much cellphone. In the future,
the young people bones would be worse than the old men.
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() 36. What is the main idea of the article?
(A) Bone bumps are getting common in older people.
(B) Cellphones are hurting young people’s bones.
(C) The study found out the new bone from young men.
(D) Always using cellphones is good for health.
() 37. According to the article, which part of the body most
likely grows the bump when people use cellphones for
too long?

(A) neck (B)back (C)hand (D) eyes

The fire in Australia started burning in July, 2019.
The bushfire causes many kinds of wild animals
death like koalas because most of their home and
food are totally destroyed. Badly, besides Australia, two of the
world’s biggest rainforests also burned in 2019. In Brazil, the
Amazon Rainforest burned for 9 months. And Central Africa
even has more times of forest fires than the Amazon.

Many scientists think the reason for all the fires is global
warming. The temperature of the Earth is rising, and it
may cause more serious disasters. Hopefully, people
can try stop hurting the Earth anymore and do something

good for it.
Mbushfire BFX  destroyed#z#ES: rainforest PR
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() 33. The price of the hotel is the highest during the busy

season.

(A) Saturday (B) winter vacation

(C) Sunday

(D) Chinese New Year

When is the busy season for YoYa Hotel?

( )34. Kevin booked a room with his wife on March tenth at
YoYa Hotel. And his mom and son went there together.
Which room did Kevin book? How much did he pay?
(A) Superior Family Room; $5200
(B) Deluxe Room; $4300
(C) Superior Family Room; $4680

(D) Ocean View Room; $4950

( )35. Which is true?
(A) There are two beds in Deluxe Room.
(B) There is a big swimming pool at the hotel.
(C) People can only pay in cash.
(D) Superior Family Room is as big as Ocean View Room.
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() 38.What is the meaning of global warming?
(A) The scientists make warmer fire.
(B) The Earth is a warm place.
(C) The weather is getting hotter and hotter.
(D) The temperature is cold.
() 39. Why do the koalas have problem in Australia?
(A) Because there is a lot of rain.
(B) Because some people hunt them.
(C) Because the bushfires burn away the trees.
(D) Because too many wild animals died.
() 40. Which is true?
(A) The Amazon Rainforest burned in the 9th month.
(B) In Australia, there is the biggest rainforest in the
world.
(C) Too many koalas make some disasters.
(D) Brazil has less bushfires than Central Africa.
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